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CPRaE Ministry of Higher Education
- Assiut University
——— Faculty of Science

Final Exam
Term II, Year: 2015/2016
Second Year
Course Title: English Language (2)
Date of Exam: Wednesday 15/6/2016
Time Allotted: 120 Minutes

Answer the following questions:

Part I: Read the following passage Carefully, then answer the Questions below.
(20 points)

Thomas Edison was born February 11, 1847 in Milan, Ohio. He was

nicknamed "Al" at an early age. At age 11, Edison moved to Michigan where he
spent the remainder of his childhood.
Thomas Edison struggled at school, but learned to love reading and conducting
experiments from his mother who taught him at home. At age 15, Edison became a
"tramp telegrapher’, sending and receiving messages via morse code, an
electronically-conveyed alphabet using different clicks for each letter. Eventually,
he worked for the Union Army as a telegrapher. Edison often entertained himself
by taking things apart to see how they worked. Soon, he decided to become an
inventor.

In 1870, Edison moved to New York City and improved the stock ticker. He
soon formed his own company that manufactured the new stock tickers. He also
began working on the telegraph, and invented a version that could send four
messages at once. Meanwhile, Edison married Mary Stillwell, had three children
“and moved his family to Menlo Park, New Jersey where he started his famous
laboratory.

In 1877, Edison, with help from "muckers", individuals from around the
world looking to make fortunes in America, invented the phonograph. The
phonograph was a machine that recorded and played back sounds. He perfected the
phonograph by recording "Mary had a Little Lamb" on a piece of tin foil! In 1878,
Idison invented the light bulb as well as the power grid system, which could
generate electricity and deliver it to homes through a network of wires. He
subsequently started the Edison Electric Light Company in October of 1878.

In 1884, after he attained great fame and fortune, Mary Stillwell died: Edison
remarried 20 year-old Mina Miller in 1886. He had three more children and moved
to West Orange, New Jersey. At West Orange, Edison built one of the largest
laboratories in the world. He worked extremely hard and registered 1,093 patents.
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Edison continued to invent or improve products and make significant contributions
to x-ray technology, storage batteries and motion pictures (movies). He also
invented the world's first talking doll. His inventions changed the world forever.
They still influence the way we live today. Edison worked until his death on
October 18, 1931.

Questions:

1

In what state did Thomas Edison NOT live?
a. Michigan

b. Ohio

¢. Massachusetts

How many children did Thomas Edison have?
. ;3
B3
c. 6

What best describes Morse Code?

a. A language for deaf people

b. A system of clicks that stand for letters
c. A system of clicks that stand for words

What was one of Thomas Edison's first accomplishments?
a. Inventing an improved stock ticker

b. Inventing an improved x-ray

c. Inventing tin foil

A phonograph is most similar to:
a. A walkie-talkie

b. A record player

c. A television

What is a "mucker"?

a. Someone from another country

b. Someone from another country hoping to find a home in America

c. Someone from another country hoping to make a fortune in America

Select all of the following that Thomas Edison did not invent.
a. The first storage battery

b. A power system that could deliver electricity to homes

c. The first stock ticker

What does the quote “Genius is 1 percent inspiration and 99 percent
perspiration” mean?
a. Only geniuses should think of new ideas
b. Geniuses have to sweat a lot to come up with good ideas.
c. Great ideas take more hard work than ingenuity
Page 2 of 4
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Assiut University
Faculty of Science
Second Semester Final Examination

AR (June 2016)
Subject: English Language I Code: 015UR
Students: Level One Time Allowed: 2 hours
I- Identify the topic sentence in the following paragraph: (4 marks)

Some people leave too many lights on around the house. Some aren’t careful

about how much water they use. Americans waste a lot of resources. Most people buy

products with a lot of unnecessary packaging that isn’t good for the environment.

[1- Find out the irrelevant sentence in the following paragraph: (4 marks)

Mr. Phillips is the principal of Lake Ridge School. He makes announcements
cvery morning at 8:15 to greet all students and to get the day started. Every morning
hc makes a quick visit to all the classes and usually waves to the students. Mr.
Phillips also walks around in the cafeteria to make sure students are safe. He likes to
cat tacos. He also directs traffic on the cross walk at the end of each day.

[11- Read the following passage then answer the questions below: (18 Marks)

When you imagine the desert, you probably think of a very hot place covered
with sand. Although this is a good description for many deserts, Earth’s largest desert
is actually a very cold place covered with ice: Antarctica.

In order for an area to be considered a desert, it must receive very little rainfall.
More specifically, it must receive an average of less than ten inches of
precipitation--which can be rain, sleet, hail, or snow-—on the ground every year.
Antarctica, the coldest place on earth, has an average temperature that usually falls
below the freezing point. And because cold air holds less moisture than warm air, the
air in Antarctica does not hold much moisture at all. This is evident in the low
precipitation statistics recorded for Antarctica. For example, the central part of
Antarctica receives an average of less than 2 inches of snow every year. The coastline
ol" Antarctica receives a’ little bit more-—between seven and eight inches a year.
Bccause Antarctica gets so little precipitation every year, it is considered a desert.

When precipitation falls in hot deserts, it quickly evaporates back into the
atmosphere. The air over Antarctica is too cold to hold water vapor, so there is very
little evaporation. Due to this low rate of evaporation, most of the snow that falls to
the ground remains there permanently, eventually building up into thick ice sheets.
Any snow that does not freeze into ice sheets becomes caught up in the strong winds
that constantly blow over-Antarctica. These snow-filled winds can make it look as if
it is snowing. Even though snowfall is very rare there, blizzards are actually very
common on Antarctica. ‘
1) The main purpose of paragraph 1 is to
A. accept a conclusion B. introduce an argument
C. provide a brief history « D. deny a common belief

(Go to the back of this sheet)
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(Page Two)
2) The best title for this passage would be
A. Larth’s Many Deserts B. Antarctica: The Coldest Place on Earth
C. A Desert of [ce D. Unusual Blizzards

3) Africa’s Sahara Desert is the second-largest desert on earth. Based on the
information in the passage, what characteristic must the Sahara share with
Antarctica?

A. low temperatures B. high temperatures

C. frequent blizzards D. low precipitation

4) As used in paragraph 2, which is the best definition for preeipitation?

A. moisture in the air that falls to the ground

B. any type of weather event

(. weather events that only happen in very cold areas

D. a blizzard that occurs in areas with limited snowfall

5) In paragraph 2 the author writes, ""And because cold air holds less moisture
than warm air, the air in Antarctica does not hold much moisture at all." Using
this information, it can be understood that

A. air in Africa holds more moisture than the air in Antarctica

13. air surrounding a tropical island holds less moisture than the air in Antarctica

C. air in the second floor of a house is typically warmer than air on the first floor

D. air at the mountains is typically colder than the air at the beach

6) Based on the information in the final paragraph, it can be understood that
blizzards in Antarctica are mainly the result of

A. freezing cold temperatures B. large amounts of snowfall
C. low amounts of precipitation D. strong winds
V- Correct the following sentences: ' ' (24 Marks)

1) Each of the girls sing well.
2) Fifty percent of the pie have disappeared.

3) Ten dollars are a high price to pay.

4) Neither she nor they was willing to predict the election.

5) Pleasc give it to John or myself.

6) Whoever you elect will serve a four-year term.

7) Some of the pies is missing.

8) You should check your spelling, grammar, and punctuating.

9) The order was requested six weeks ago, therefore I expected the shipment to
arrive by now.

10) T must study english and math.

11) The folder, not the letters, were misplaced.

12) He is not unwilling to help.

(Best Wishes)
Examiners:

Dr. Sherin Abdel Ghaffar
Dr. Yasser Ahmed Gomaa
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Assuit Univrsity
| Faculty of Science
Department of physics

Second Semester 2015 - 2016
| Date: 4 /6 /2016
Time: 2 hours

Course Title: General Physics (1) ~- ode: P100 - Final Exam (50%)

{ | Instructor: Dr. Amera Z. Mahmud I

Part I- Choose the correct answer: (20 Marks)

1)Dimensional analysis can give you the numerical value of constants of
proportionality that may appear in an algebraicexpression.

a. True.

b. False.

2)The distance between two cities is 100 mile. What is the numberof
kilometers between the two cities?

a. smaller than 100.

b.larger than 100.

c.equal to 100.

3) The equation for the change of position of a train starting at x = Om is
given by x=§ at? + bt3. The dimensions of b are

a. T
b.LT?
¢. LT

4) If a car is traveling eastward and slowing down, what is the direction of
the force on the car that causes it to slow down?

a. eastward.

b. westward.

¢. neither of these.

5) After a ball is thrown upward and is in the air, its speed
a. decreases

b. increases and then decreases

c. decreases and then increases




6) A component of a vector is -------- large than the magnitude of the vector.
a. Always

b. Never

c. sometimes.

7) A projectile is thrown from the top of a building with an initial velocity of
30 m/s in the horizontal direction. If the top of the building is 30 m above
the ground, how fast will the projectile be moving just before it strikes the
ground? Select one:

a. 39 m/s

b. 43 m/s

c. 54 m/s

8) In an isolated system, which of the following is a correct statement of the
quantity that is conserved?

a. kinetic energy

b. kinetic energy plus potential energy

c. both kinetic energy and potential energy

9) If the rectangular coordinates of a point are given by (2, 5) and its polar
coordinates are (r, 30°), so r is equal:

8 2.3

b. 1.7

c.4.3

10) The mass of an atom of iron molar mass Ar=55.9 gm/mol is
a. 9.3x10%gm

b. 9.3x10*gm/mol

¢. 9.3x10gm/atom

P:wpz




Part II- Solve four (4) questions only from the following problems: (30 Marks)

1)The frequency of vibration (f) of a mass (m) at the end of a spring that has
a constant (k) is related to m and k by the relation of the form (f= constant
m°k?). Use dimensional analysis to find () and (b) from the fact that [f] =
[T"], [m] = [M] and [K] = [MT"].

Pnopg




2)A particle starts from rest and accelerates as shown in Figure P2.12.
Determine (a) the particle’s speed at £ =10.0 s and at # =20.0 s, and (b) the
distance traveled in the first 20.0 s.




3) A force acting on a particle varies with x, as shown. Calculate the work
done by the force as the particle moves from x =0 to x =6.0 m.

FAN)

0 Lo bi‘ — x{m)




4)Block A, with a mass of 10 kg, rests on a 30° incline. The coefficient of

kinetic friction is 0.20. Block B, with a mass of 3.0 kg, is attached to the
dangling end of the string. Find theacceleration of B and the tension of
string. (Hint: the pulley is massless and frictionless).




5) A projectile is fired in such a way that its horizontal range is equal to its
maximum height.

(a) What is the angle of the projection?

(b) if the range in part (a) equal to 8 m; what is the maximum range the rock
can attain if it is launched at the same speed?

Pzap7




Assuit University N Second Semester 2015 - 2016
Faculty of Science AR Date: 4 /6 /2016

Department of Physics {1 24l | Time: 2 hours

Course Title: General Physics (2) - Code: P105 - Final Exam (50%)

Part I- Choose the correct answer: (16 Marks) -

1- To make an uncharged object have a positive charge:

a) remove some neutrons b) add some neutrons

c) add some electrons d) remove some electrons

2- A 200-N/C electric field is in the positive x-direction. The force on a proton
in this field is:

a) 200N in the positive x-direction
b) 200N in the negative x-direction
¢)3.2x 107" N in the positive x-direction

d) 3.2 x 107" N in the negative x-direction

3- Charge is placed on the surface of a 2.7 cm radius isolated conducting
sphere. The surface charge density is uniform and has the value 6.9 x 10°

C/m’. The total charge on the sphere is:
a)5.6x1071°C b)2.1x107°C

)47 R MW C d)6.3x 1078 C

4- A vparticle with a charge of 5.5x10™° C is 3.5 ¢m from a particle with a
charge of —2.3x10™° C. The potential energy of this two-particle system,

relative to the potential energy at infinite separation, is:

a)3.2x10™*J b)—3.2x107*]
)93 x107] d)-9.3x1077J
Pagel




5- Two identical capacitors, each with capacitance C, are connected in parallel
and the combination is connected in series to a third identical capacitor. The
equivalent capacitance of this arrangement is:

a)2C/3 b) C

¢)3C/2 d)3C

6- A certain wire has resistance R. Another wire, of the same material, has half
the length and half the diameter of the first wire. The resistance of the
second wire is:

a) R/4 b) R/2

c)R d) 2R

7- A total resistance of 4.0 Q is to be produced by combining an unknown
resistor R with a 12 Q resistor. The value of R and how is it to be connected
to the 12 Q resistor is:

a) 6.0 Q, parallel b) 6.0 Q, series

c) 3.9 Q, parallel d) 3.9 Q, series

8- The equivalent resistance between points 1 and 2 of the circuit shown is:

a)3Q b) 4 Q L0 10
AV ANt ]
e) 5.8 d)6Q
10 10
AM AAA .."-)
20 20




Part I1- Solve the following three problems: (21 Marks)

1) Three point charges are located on a circular arc as shown. (a) What is the
totél electric field at P, the center of the arc? (b) Find the electric force that
would be exerted on a -5 nC point charge placed at P.
(K=9x10° Nm?%/C?).

300 N0

4.00 cm

- 2.00 nC |

;)

+3.00 nC

Page 3
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2) A charge +q is at the origin. A charge -2¢ is at x = 2.00 m on the x-axis. For
what finite value(s) of x is (a) the electric field zero? (b) the electric potential

zero?




3) A spherical conductor has a radius of 14.0 cm and charge of 26.0 puC.
Calculate the electric field and the electric potential (a) » = 10.0 ¢cm, (b) r =
20.0 cm, and (c) » = 14.0 cm from the center. (K=9x10° Nm%/C?).

Page5 i /21 §




Part 111- Solve only two (2) out the following (3) problems: (13 Marks)

1) A parallel-plate capacitor in air has a plate separation of 1.50 cm and a plate

Page6

area of 25.0 cm®. The plates are charged to a potential difference of 250 V
and disconnected from the source. The capacitor is then immersed in distilled
water (K = 80). Determine (a) the charge on the plates before and after
immersion, (b) the capacitance and potential difference after immersion, and
(c) the change in energy of the capacitor. Assume the liquid is an insulator.
(¢, = 8.85x10™2 C*N''m™).




2) The current in the 8.0 Q resistor in the drawing is 0.50 A. Find a) the voltage

across the 20.0 Q resistor and b) current in 9.00 Q and 18 Q resistors.
8.00 ©2

160

¥

9.00 02

200 Q

AAAA




3) Using Kirchhoif’s rules, (a) find the current in each resistor in the circuit. (b)

Find the potential difference between points ¢ and f (V- V). Which point is

. y I ;
o V 1 . .00 k(2
at the higher potential? b A d
= O L
00V 1 60.0V 79.0 V
x
% 3.00 kQ2
(13 ! ' . v ! L4

-

Q
o)e]

©

oo
\
[y

W




“Term: Summer 206

Assiut University

Faculty of Science

Date: August 25, 2016

Department of Physics Time: 2 hours

Course Title: General Physics (2) - Code P105 ~ Final Examination (50 %

)

Cants: Electrn charge e = -1.6x10°C, Elect
Ke = 9x10° Nm?/C?, g = 8.85x10™2 C?*/Nm?

Answer All the Following Questions (Total Mark 50 points)

Q1) Circle the correct answer for the following questions: (15 Marks)

1. Two positive point charges Q and 2Q are separated by a distance R. If the charge
Q experiences a force of magnitude F when the separation is R, what is the
magnitude of the force on the charge 2Q when the separa onis 2R ?

a. F/4 b. F/2 c. F d. 2F e. 4F

2. In the figure, point A is a distance L away from a point charge Q. Point B is a
distance 4L away from Q. What is the ratio of

the electric field at B to that B A 0
a. 1/16  b. 1/9 c.1/4 d. 1/3 ‘ ““““““““““““““ T “““ ®
e. This cannot be determined since neither - 3L _— L-—»l

the value of Q nor the length L is specified.

3. What is the electric flux passing through a Gaussian surface that surrounds a
+0.075 C point charge?

a. 8.5x 10° N-m%/C b. 1.3 x 10" N-m%/C c. 7.2x10°N-m?/C
d. 6.8 x 10® N-m?/C e. 4.9 x 10° N-m%/C
4. A charge g = -4.0 uCis moved 0.25 m horizontally to point P in
a region where an electric eld is 150 V/m and directed E
vertically as shown. What is the change in the electric @ .
potential energy of the charge? 4 F
a. -2.4x107) b. +1.5x10™"J) c. -1.5x107} '
d. +2.4x107 e. zero joules
5. What is the direction of the net electric field at point P? +Q
A S— ]
a. & b. 7 c. = ; E“’
N . 1 S S

6. A charge of SuC is given a displacement of 0.8m and the work done in the
process is 70u J, the potential difference between the two points is

Page 1




a. 2V d. 25V
bi 0:25Y e. Zero
¢ 1V
7. A solid conducting sphere of radius a= 8m is charged such that the potential of
its surface is TOV. The electric field at any point inside the sphere will be

50V/m | \
1ov/m V, =10V

2V/m

5V/m

Zero

® oo oo

8. Two electric dipoles one of charges (+ 2y and — &) and the second of charges
(+3% and —3) are placed inside a cube. The net electric flux (@) through all
surfaces of the cube is

a. 10q/g

b. 2q9/g

c. 3a/g

d. a/ &

e. Zero

9. What is the maximum electric flux (®) that can be produced by a uniform electric
field of magnitude E= 7ON/C through as circular surface of radius 0. 7Tm?
a. T /100 N.m%/C
b. 1 /10 N.m%*/C
c. 1N.m%C
d. 100 N.m?/C
e. 10N.m%/C

10. A particle of mass m and charge + g is placed at rest in uniform electric field E
and then released. The kinetic energy attained by the particle after moving

distance d is
a. qEd? . N
b. qE/d b
c. gEd : >
d. Zero ¥ s SN
e. q?Ed 4 g

Pagez




Q2) (15 points)
Three point charges are located at the ver ces of an isosceles (2 equal sides) triangle
as shown below. Point P is midpoint of the base.

a) Calculate the magnitude and direction of the electric field at point P? (12 points)

b) Calculate the electric potential at point P? (10 points)
c) Calculate the work required to bring a positive test charge (qo = + 4 uC) from
infinity to point P? Gi= +3 uC (8 points)

Q3) {10 points)
Two batteries and three resistors are connected as a sal,p L 200,
shown in the figure below. If € =30V and € = 10, & ;

30V
find:
a) The currents Il, 12 and 13. (7 points)

b) The potential difference (Va~ Ve). (3 points)

Q4) (10 points)

A solid, conducting sphere of radius a carries an excess charge
of +6 uC. This sphere is located at the center of a hollow,
conducting sphere with an inner radius of b and an outer
radius of ¢ as shown. The holiow sphere also carries a total
excess charge of +6 uC. :

1. Determine the excess charge on the inner surface of the
outer sphere (a distance b from the center of the system).
(a) zero coulombs
(b) +12 puC
{c) -6 uC
(d) =12 uC
(e) +6 uC

Page3




2. Determine the excess charge on the outer surface of the outer sphere (a
distance c from the center of the system).
(a) zero coulombs
(b) +6 uC
(c)=12 pC
(d) -6 pc
(e) +12 pC

3. Which one of the N (b)

following figures shows
a qualitatively accurate
sketch of the electric
field lines in and around

«©)
g
e
this system? @ ‘ @ A
r'dl
e - -
'4

******’k************************** GOOd I.UCk ********************************

i\

e

/ﬂ

Prof. Dr. A. A. Ebrahim
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Assuit University L Summer Course 2016
Faculty of Science , Date: 25 /8 /2016
Department of physics | AL Time: 2 hours

- )
Course Title: General Physics (1) — Code: P100 — Final Exam (50%)
Instructor: Dr. Amera Z. Mahmoud

Part I- Choose the correct answer: (20 Marks)

1) Dimensional analysis can give you the numerical value of constants of proportionality that may appear in an
algebraic expression.
a. True.
b. False.

2) The distance between two cities is 100 mi. What is the number of kilometers between the two cities?
a. smaller than 100.
b. larger than 100.
c. equal to 100.

3) The equation for the change of position of a train starting at x = Om is given by nga‘c2 + bt3. The dimensions of

b are
a2
b. LT
c. LT?
d. LT

4) If a car is traveling eastward and slowing down, what is the direction of the force on the car that causes it to slow
down?

a. eastward.

b. westward.

c. neither of these.

5) After a ball is thrown and is in the air, its speed
a. decreases.

b. increases and then decreases.

c. decreases and then increases.

6) A component of a vector is -------- large than the magnitude of the vector.
a. Always

b. Never

c. sometimes.

7) In an isolated system, which of the following is a correct statement of the quantity that is conserved?
a. kinetic energy.

b. potential energy.

c. kinetic energy plus potential energy.

d. both kinetic energy and potential energy.

Page 1



8) If the rectangular coordinates of a point are given by (2, 3.8) and its polar coordinates are (r, 30, so ris equal:
a.2.3

b. 1.7

c.43

9) The distance between two cities is 100 mi. What is the number of kilometers between the two cities?
a. smaller than 100.

b. larger than 100.

c. equal to 100.

10) The mass of an atom of iron molar mass Ape=55.9 gm/mol is
a.9.3x10gm

b. 9.3x10*gm/mol

¢. 9.3x10% gm/atom

Part II- Solve four (4) questions only from the following problems: (30 Marks)

1) Suppose we are told that the acceleration a of a particle moving with uniform speed v in a circle of radius r is
proportional to some power of 7, say 7" and some power of v, say v". Determine the values of n and m and write
the simplest form of an equation for the acceleration.

2) A particle starts from rest and accelerates as shown in Figure P2.12. e
Determine (a) the particle’s speed at 1 =10.0 s and at ¢t =20.0 s, and (b) the 1
distance traveled in the first 20.0 s.

e

3) A man cleaning a floor pulls a vacuum cleaner with a force of
magnitude F=50.0 N at an angle of 30.08 with the horizontal as shown lﬂ/, '
in the figure.

a) Calculate the work done by the force on the vacuum cleaner A
as the vacuum cleaner is displaced 3.00 m to the right. :
b) Find the work done by the man on the vacuum cleaner if he
pulls it 3 m with a horizontal force of 32 N.

4) A ball of mass m =10Kg and a block of mass m,=5Kg are attached by a
lightweight cord that passes over a frictionless pulley of negligible mass as in
the Figure. The block lies on a frictionless incline of angle 8 =45°. Draw the
free body diagram for the two objects and then find the magnitude of the
acceleration of the two objects and the tension in the cord. 4 T i

/
4

5) A particle moving in the xy plane undergoes a displacement given by Ar =(2 1+3j) m as a constant force
F =(5 i+2]) N acts on the particle.
a) Calculate the magnitude of the displacement and that of the force.
b) Calculate the work done by F.
¢) Calculate the angle between F and Ar.
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